Equivalent Frach
Shade in the hoxes which are equivalent to /2 (one half).

Count the number of shaded hoxes to give you your numerator (number on top)
and count all the boxes to give you your denominator (numher on hottom).




Now, do the same helow for I/3 (one third). Colour in the numher of hoxes

equivalent to 1/3.

The UNSHADED hoxes are equivalent to
equivalents helow.

l.

2.
3.
k.

2/3
3/9

2/3 (two thirds) can you write their

10.
.
2.



Now, do the same helow for I/4 (one quarter). Colour in the number of hoxes
equivalent to |/4.

The UNSHADED hoxes are equivalent to 3/4 (three quarters) can you write their
equivalents helow.

. 3/4 5. q.
2. 9/12 6. 10.
3. /. .
k. 8. 2.



Now, do the same helow for I/10 (one tenth). Colour in the numher of hoxes

equivalent to 1/10.

The UNSHADED hoxes are equivalent to 9/10 (nine tenths) can you write their

equivalents helow.

l.

2.
3.
k.

9/10
18/20

10.
.
2.



